[

CROSSPROD

LUGGAGE RACK
Ref.: 2CP2220100

nnnnnnnnnnnnnnn
WWW.Crosspro.pt



ASSEMBLY INSTRUCTION / INSTRUCAO DE MONTAGEM LUGGAGE RACK

@ CROSSPRO

English:
1 Attention: Follow the installation sequence as you can see in the photos.
! * Photo A: Mount item N°4 (Luggage Rack — x1) as the assembly instruction.
| Torque all screws to the correct value.
I
1
| : és:
% STAINLESS . & Portug~ues _ o f
STEEL  STEEL N Atencdo — Seguir a sequéncia de montagem que pode ver nas otos. )
| 88 A2 * Foto A: Montar o item N°4 (Suporte de Bagagem — x1) como a instrucao de
M4 | 2.7 2.6 montagem.
M5 | 5.5 5.1 \{ Apertar todos os parafusos com o valor correto de torque.
M6 9.7 8.7 ¢
M8 230 212
M10 47.0 42.0 4mm 10mm —
Francais:
M12 800  73.0 - . . , . .
Attention: Suivez la séquence d'installation que vous pouvez voir sur les photos.
4 |Suporte de Bagagem Trail / Luggage Rack N2100 1 * Photo A: Appliquer l'item N°4 (Luggage Rack — x1) conformément aux
3 |Porca Freada / Nut Nylock M6 - DIN 985 4 instructions de montage.
2 |Anilha Aba Larga / Large Washer M6 - DIN 9021 4 Torque toutes les vis avec le bonne valeur.
1 Paraf. Cabega Escareada Sext. Int. / Hex Socket Countersunk Head Cap Screw M6x30 - DIN 7991 4
ITEM N2:|COMPONENTE (COMPONENT): DESCRICAO (DESCRIPTION):  |QUANT.:
ACESSORIOS (ACESSORIES)

1D.022.02 DATE: 11/03/2024




	Diapositivo 1
	Diapositivo 2

